
Herreneinzel A

Zickermann

Raupach

Zickermann 1 - 1 Raupach

0 - 0

- 1 1 Raupach

0 Siegfried 0

Münch 0 - 1 Siegfried

1 - 0 Verlierer 1

Schulze 0 Schulz van Endert

Kutay 1

Münch 0 - 1 Kutay

1 - 0

Münch 0 0 Schulz van Endert

1 Schulz van Endert 1 Verlierer Position A

Münch 1 Schulz van Endert

Münch 0 Verlierer 2

Kutay

Narang

Kutay 1 Narang 0 Kolesnik

0 Kolesnik 1

Narang 1 1 Kolesnik

0 - 0

Xanthopoulos 0 - 0 Schulze

1 Schulze 1 Verlierer 3

Siegfried 1 Kolesnik

Zickermann 0

Xanthopoulos 0 Xanthopoulos 1 Zickermann

1 Xanthopoulos 0

| Xanthopoulos 1 0 Xia

| 0 - 1 Verlierer Position B

| | - 0 Xia

Zickermann | Xia 1 Verlierer 4

|

Kutay 0 |

7. Platz 1 |

Kutay | Schulz van Endert

|

- 1 Schulz van Endert

Xanthopoulos 0

- Gruppenspiele um Platz 9 1 Xanthopoulos

Xia 0

Schulze Platz 9 0 Raupach

Narang Platz 8 Raupach 1 1. Platz

Siegfried Platz 7 1 Raupach

Münch 0

| 1 Raupach

| 0 Schulz van Endert

| Kolesnik 2. Platz

| |

| |

| Xanthopoulos

| 0 Kolesnik

| Kolesnik 1 3. Platz

|

Xia

1 Xia

Münch 0 5. Platz


